Efficiency vs dr

x 12
d L
9 oo
[ o

Z 1_ :
(&)
e L
Q -
(8] -
£ 08
] -

0.6/

0.4H

0.2p
o J..uCy
k= —=— DQM_original_1000evt
o 4 —— pow fitteds_ 1000evt

107 1072 1
TP min AR

[ Efficiency vs dr (track,jet) |
= 0.5

o
©
N O

0.35

efficiency vs AR(TP, je

o
© N @
N W

0.15
0.1
0.05

Ratio

o

©

Ba
)

1072 107t
AR(TP, jet)

Efficiency vs pu

0.5

°
N
[61]

R I o

efﬂmency vs PU
o
N

o
[

............................................

T 4;;&;;;;4@# il

=

093630 40 50 60 70 80 90 100
Pileup



	Contents
	Page 1


